5% | S DT

Oooooooodo

oogn

e J00D00O0O0DOOOODODODOODOODOOO
eJ0000O0DO0DOODODOODOODODOODOO
oooooooo

e J0000DOO0DODOODOOODOOODOOOOO
eJ0000O0DO0DOODODOODOODODOODOO
00000000000000000o0o0o0a
oooo

el0000O0ODOOOODOODODOO
e00000D00OO0DODOODOODODOODOO
ooooooo

e 0000000000000D000
e0000000000000000000000
0000000000000000
«000002000000000000000
«00000000000000000000000
000000000
«0000000000000000mmODO0O
0000mOoonooo
e000000000000000000000000
ooooooooooooo
e0000D00D0ODDO §kﬂ ooooo

000+ 0.05rad0 00 zzﬁﬁ
000000000

Mmooooo §§§m
eJJ000OODODODDO \oooooo
gooooooooooo 0.05rad0 0
oo - ~—/0.05rad1 )

e N0O00OODOOOOOOOOOOOOOOBOOOO
e 00000DO0ODODODOOOODOOODOO
0oOoo0O0o00D0O000D00DO000ODOO00o0O
ooooooooo
e J000OOOOOOOOOOOOOODODO
e 00000DO0ODODOOOOODOOODNOO
ooooooooao
e J000IOOODDDOOODDOODOODOOODDOO
e00000DO0DODODODODODODO
OooOoooooooon
e JO000O0OOOOCOOOODODOOODOOOODODO
ooooooooag
eJ00000DO0DODODODODODODO
ooooooooooooag
e JO000OOOOOOOOOOOOOODO
e 00000DO0ODODODOOOODODOODNOO
oooOoooooon
e J00DIOODDDOOODO
eJ00000DODOODODODODODODO
Oo0oo00oo0oo0o0oo0ooo0oooooooooooao
OOoo0O0o0O0000000000D
e000O00O0O0OODOOOOODODOODO

oooo

e JO0O0OSOO07O00ODOODODOOOOOOO

000o0o00o0000000000000000o00
00000000000000000000000
0000000000000 0D00D00D0000D0
Ooooo0o0o0O0b000o0o00oo0oooo

e J00O0ODOODODOODODOODOOOODOO

e J0000OODOOOODOODOOOOOOOOOO
Ooooo0oo0o0ooooonoa

oooo

e 00002000000 00000000O0

e J00D0D0O0DOOOODOOOmMmMOIOODOO
OooOooOooooooo

e J000O0DODOODDOOOOOOOOOODOOOO
00000000000000000000000D

e J000O0DOOOOOOOODOOOOOOOOOO
000O00000000000000000000
00+ 0.05rad0 000000000

e J00DOODODODOODOOOOOOODOODOO

0000 mmO M12x 1.0 M14x 1.5 M16x 1.5
goooo
7.8 9.8 14.7
NIm

oooooao

e 1000000000 ODOOOOOOOOOOOOOO

10000000000 O'000 27000000
ooooo

2000000000000000G0O0O00O000O0O
goboboooooooooooooooooo
goooooooooooo
ooooOoooooOo0om@ooooomon
-goooooo0onr o'"oob 1"0oooo
gooooooo
oooooooooOoOoO0om@moooomon
000000000 o'odl 3rooodo
goooooo

300000000000000  poooos

osanorooner S

goooooocOooooo ooooo 0 A2M120
400000000000000000D
gooooooooooooooo

00000000000000000 cosooo ot
00000000000000000  Dosss,  Mussoooso
00000000000000000
00000000000000000

000000000000

goon

oooooo ooooooooooon

e J0000DOO0DODOODOOODOOODOOOOO

1000000000000000000000000
000000000000 0000Meqg=2Er/V20

200000000000000000000000
o0o0oo0o0oO000ooO0o0oO0oOooooo
ooooooooooooo
oooooDO0O0oO0o000O0o000oO0o000Ooao
Joo0oOoO0o0ooO0O00oOoO00oOoOoooaa
goo0oO0oO0o0o0oO0o00oO0oO00oOoOoooa
oo0o00000000000000D

3000000000000000000000O0
ooo
0o0o00D000000000000000a0
ooooooooo
0Mmo0mooooooooooooooa
ooooooooooonoao
oooooooomM4000002mmO000
0o0@DLwwoomooooooooao

400000000000000000000D00
o0o0oo0o0oO000oo0oO0o0oO0oOooooo
00o00oo0o0o0o0000O0o000O00oo0o
o0o00oo00000000000000000
o0o0oo0o0oO000oo0oO0o0oO0oOooooo
ooooooa

ooooooo

oooooo
coooog

OopboooO0oooOoooooo

ooooo

e JO00000OOOOOOOOOOOOOODOOOO

e 000000000000 OOOOOOOO

e JO000OOOOOCOOOOOOOODOOOODODO
oooo

e JO00000OOOOOOOLOOOOOOODOOOO

oooo

e 100D00DODOOOODOODODOODOODOO

el00D0O0O0OODOOODODOOODOOOODOO
00oo0ooO0ooo0ooooooon

000000000000 000000000D0000

oopooo )

( iET

I]I]IZII:II]EIDD; oooo

i10000000000000O0O0O0O0C0O0O0O0
gooooooooOoOoooOooooOoooo
2000000000000000D000O0OO
go0o0oooooooooooooooooo
go0obooooobOoO0b0O000a01.2N0m
3.000000000000000000000
%DE[EIEII:?DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
00000000
i0000000000COOOOOOOOOoooo
gooooooooooooo
2000000¢ 4mmO00.3mm2x 20000000
001.5m0O
3000000000000000O00O0O000000
go0oooooooooOOoOoOOOOOOoOoooo
o000o0ooooooooooono
eJ00O00O0O0OOOOOOOOOOOOOO
eJ0000OO0O0O0CODOOODIOOOOOOOOO

HE

U000l pooooMYODOOOOODOHH-50
O00O00ORYODO OOOOOHCO

40000000000000O00O0OO0O0OOOOO
gooooooooooooooooooooooD
S50000000000000O0b00O0b0O0bOo0o
gooooooooooooo
6.000000000000O0O000OO0OOOOOOO
Moo0mMmoooooooooooooooooooo
Oo0020mm0O  ooooooo
oooooooo
ooood —-—
rooooooog e
gOooo0oooOoooOoooOooOoooOoooooo
goooooooOo0o0oooooooboooooooo
goooomsKi1o0Moooooooo
g800oooooo
j000o0ooOoOoooopooOoOooOmomoodg
jooooomomooooooooooooo
ooooo noomoo
ooooao
Doooo EiEz:ﬁZEEE%i;;;

ooo

==Y I)T=

ooooooodo



googod
Oogoad
goooougod

gooobooobobobobooobooon

googn
O o0o0o

e(jO00COCOOOOOOOOOOOCOODOODOO
e10M12000000000O0OOOOOOBOOO
0000000000000000000
e(jO00COCOOOOOOOOODOO
e(jO000OOCOOOOOODODODODOODDOD
efjO0000OOOODOOOODODDODOODODO

CAD/DATA

ABSORBER/MSADJ1 0000000 E

oo
001M0000000000000000
A2M12N01 A2M12N010-
oooo |:||:||:||:|0|:|0 |:||:||:||:||(:)|§|(:|: 0OO026700000000000
0000DOmMO00Dooooo
0ooooooao J 0.78501 2.94 O0000E® /minMO0000
00 0 0O 0 mm 10 EZ:DSZ-ZDTDX(DDDDDDD)
0000000000 kg 30 : uooood
. 0oooooo
nown 0000000000 Jimin 98.1 0o2mo00010mmO0C0C0O000n
0Dooooao ms 1500 ooooo
oosoQpg O O O 0O N 1470 go3@oooooooooooooooo
00200 OO O O O N 9.81 ooooo
tong OO0 D000 s 05
00000000 Omin 60
Dooooao 0 050070
O O g 40 43
0 0 0 0 0000000000000000000
0DOoO0mm
oooooooooo EA
0 A2M12NO0100 O
ooo goood
M12x 1
14
¢35 ¢®8
— I
‘
8
16.2
E | 10 ‘%5 1;15 10
0 o [ ﬁ 162 000 SN-F3M12
D l f ‘JLJF%
4
E ooooo * ooooo f 0 A2M12N010-CO O
0 nooi14 T 76 nooi14 ! 4 84
0 I 66 66 M12x 1
) il T @j
| 5 5*
Mi12x 1 | Mi2x 1 mlﬁ

eJ0000O0O0DOOOOOODOOOOOOOOeE64000

16.2

0 0 0 SN-F3M12-C

l000000000oOo

gboooboooboobooboooboon

oooboogoodgn
Ooogboodogand
goooougod

efjO000OCOOOOOCOOOOOOCOOODODOO
e[10M1I4000000D00O0O0DOOOOOOODODO
0000000000000000000
efjO000OCOOOOOOOODODOOODODO
e(jO000OCOOOOOODODODDOOODDOD
ejO000OCOOOOOOOODODODO

CAD/DATA
ABSORBER/MSADJ1 0000000

oo
POTVITOG VG 001MO0000000000000000
oooo EIEIEIEIR gy 0026.700000000000
0000DO0MO00000000
00000000 J 1.4703.92 00000ER/min00000
00 0 0 0 mm 10 EZ:DSZ-ZDTDX(DDDDDDD)
0D00oO0O0O0DO0 kg 30 : ooooog
: ooooooo
poin 00000000030 Jimin 177 D02mo000010mmO0C0C0000O
000000 mis 1.500 ooooo
oo O O O O N 1820 go3@oooooooooooooooo
o000 OO O O O N 9.81 gooooo
00200000 0 00 s 0.5
00O0O0O0O0o0O O/min 60
Oooooo o 050070
O O g 58 59
0 0 0 0 0000000000000000000
000mm
gooooooooo A
0 A2M14N0100 O
ooo goooo M14x 1.5
010 17
@35 I V
M (CT7=t
15| 10 &’HH 15] 10 19.6
196 S 19.6 “: — 1 000 SN-A2M14
AT DI 0 A2M14N010-CO O
ooooo ! 6l 64| 80 ooooo ‘ 6l 64| 88 Mi4x 1.5
oooaz oooaz
17
5 | 5
M14x 1.5 6 M14x 1.5 6 i 20
oooog noooog 196
912 912

0 0 0 SN-A2M14-C

e0000DDODOODDDOOODDOOOGE4000 OO0 OOOODDOOOO

ooooooodo



gooobooobobobobooobooon

oooboogoodgn
Ooogboododgand
goooougod

e(jO00COCOOOOOOOOOOOCOODOODOO

el0Ml160000O00ODOOOOOOOOOODODODO

0000000000000000000
e(jO00COCOOOOOOOOODOO
e(jO000OOCOOOOOODODODODOODDOD
efjO0000OOOODOOOODODDODOODODO

CAD/DATA

ABSORBER/MSADJ1 0000000 E

oo
T OTETRG 001MO0000000000000000
oooo S FIEIEE BREREGE 0026.700000000000
0000DO0MO00000000
00000000 J 1.9600 9.81 00000ER/min00000
00 0 0O 0 mm 12 EZ:DSZ-ZDTDX(DDDDDDD)
0000000000 kg 50 : uooood
. ooooooo
nem 0000000000 Jimin 235 002MO000012mmI00000000
000000 ms 100 ooooo
nsng O O O O N 2650 003MO0000000000000000
cong 0O O OO N 14.7 ooooo
00200000 O O O s 0.5
00000000 O/min 60
0Dooooo o 050070
0 O g 108 117
0 0 0 0 0000000000000000000
000mm
0ooooooooo B4
oo 0oooo 0 A2M16N0120 O

5
S
] (] =
0 12 es JL o
o 20 20
O ! ’(— ’<—
0 \ v
O noooo 6 ooooo 6]
O 00019 B 00019 B u7
0 102
O ' 85.5 855
0 B B
M16x 1.5 M16x 1.5
i
10 10
CLY N
gooog 45 ooooog 45
ogooog ooooog
0 M3x 050 0 M3x 0.50

eJ000DDDOOOOOODODODOOOOOGBE4000

M16x 1.5

19

IHIE

T
21.9

000 SN-A2M16

0 A2M16N012-CO O

M16x 1.5

19

IHIE

21.9

0 0 0 SN-A2M16-C

jooooooooog

gboooboooboobooboooboon

oooboogoodgn
Ooogboodogand
goooougod

efjO000OCOOOOOCOOOOOOCOOODODOO
e(O000OCODOODOOODODODODD
e(jO00OOCOOOOOOODODODOOODOOD

oo

CAD/DATA

ABSORBER/MSADJ2 0000000 E

oooo

ASF-03-1@ 000000

ASY-03-10 000000

00i1mo0oo0000ooboooobooo
00d2e700000000000
00o00oomoboOoooooooo

0DO0000000 J 30.4 OD00D0EZ/minO00000
00 0 0 0 mm 25.4 EZ:DSZ-ZDTDX(DDDDDDD)
000000000 kg 50 500 : ooooog
. 0oooooo
pow 0000000000 Jimin 461 002M000025.4mm0000000
0O0o0DO0DO00 ms 100 oooooo
oo O O O O N 4060 003 pooopo0ooooooooooo
cong 0o 0 00O N 11.8 ooooo
song OO0 D000 s 0.1
00000000 Oimin 60
oooooao o 050070
O O 0 0 FOOYO
0 0 g 0.7 0.5
000mm
ASF-03-10
FOOOODOOO0OO0O00 max 1207 50
max 36.7 84 034
4-9 6.5
61
||
B
10_[6 M28x 1.5
ASY-03-10
ymooooooo
max 146 32
10 max47 99 10
24[ j !:Ff Eé - —e 201
¢ 92005 (@)‘ ¢ 95 10 ¢ 92005

ooooooodo



642

oooboogoodgn
Ooogboododgand
goooougod

e00000O00OOOOOOOOOOODOODOODO
oomrBOOCBOOOOOOOOOO
ej00000O0O0O0OOOOOOOOODOODODODO
00o0o0o0oooooooooooo
eJ0000ODOOOOOOODO
e00000O0O0O0OOOOOOOOODOODODODO

A2M20

gooobooobobobobooobooon

go0oooooooooooOoOOOboOoOobooo

0 A2M20N016SD0 0 A2M20S016CB

0oooooo 0 A2M20S016SD-1F
oad
AZM20NO16SD | A2M20S016SD-C| A2M20s016cE D I HEOCOOOOOOODOODOTT
oooo nonon lononooo | ooooooo 0026.700000000000
0000TOmMOOooooonooo
ooooooog J 255 00000ER/min0 00000
00 0 0 0 mm 16 EZ:DBZ-ZDTDX(DDDDDDD)
0000000000 kg 201 200 nooood
, ooooooo
pein 0000000000 Jimin 343 002M00006mmO00000000
000000 ms 0.1503 oooo
ooso O O O O N 3610 go3@oooOoo0ooOooOooOooonoa
o0 0D 000 N 353 ooooo
00200000 0 0 0 s 0.2
00000000 Ofmin 60
oooooog o 0500700000000500500
0 o o o LAC O FAC O FBO cBOOO
oooo oooo 0.19 0.26
kg 0000 |LADFADOCO0.11FBOO00.17 0
0 0 0 o oooo 0
gooooo
0M.000MO0000mMO000ono
oooo DR501 00000000D00SK-10000
ooooooo
- 000 0 0 O DCL 50 30V \ ACI 50 100V 2.0000000¢ 4mmO 0.3mm32x
O O o o o o 10 15mA 20000000001.5m0O
0 Dbooooo 15w [ 2vA 3000000 mmAD
b 00000mMwWO0VAD
0 0 0 0 0 omA 0 x 1000
o 0 0 0 294m/s?
B 0 0 0 0000000IONDOOD
0 0 0 0 0 IP6T1 IECO O O
goooooo
S
N
0 0 0 0 M550
goooooo

0000000000000000000

A2M20

ooooboobobooboobgooo

O00000ooooo0o0oo00ooooooooooog

00 o N%L.G

DDDDEISQ:I'Q sbjoc

DDDDDSQ:I'Q cB

58016 SD|01F
1

poooo
16mm

ooood
oooo

oooo
[sDjooo
FAoooooooo
FBloOoooooo

oooooo

o000 cBMoOooOoOoOoOooooooooooa

643

ooooooodo



oooooooboooboobobDoonl soomm

“ - A2M20

CAD/DATA
ABSORBER/MSADJ200MSOPTION 0O OO0OOO0OOO

SDioooo SDioooooo
A2M20N0O16SD A2M20S016SD-C
105 122
10 63 2.5 135 16 10 63 25 135 16 17

10 10 10 10
] i oo

e ST HEH e

M20X1,5/ 00000 ooo24 M20x 1.5 / OoO000 0ooo024
FA FAoooooo
A2M20NO16FA A2M20S016FA-C

105

o 63 25135_16 040 122

1012 028 63 25135 16 _ 17

@6
- : F i, " m== 18
%) 06 o T o / [ ¢
T
M20x 145/ 0000000024 4-9 6.5
FB FBoooooo
A2M20NO16FB A2M20S016FB-C
[}
[}
(] 105
O
] 51 25135 16 0 40 122
E 22 |10 028 51 25135 16 _ 17
D
[} |

il

Eras e

&

=
gooooo i

ooooog

00024 M20x 1.5

e
L]

cooem O0O0O00O0O0O0O0O0O0OO0O0OO0O0OOCOO

CAD/DATA
ABSORBER/MSADJ200MSOPTION 0000000

LA LAcooooo

A2M20NO16LA A2M20S016LA-C
105
10 63 2.5135_16 50 122
10 16 34 63 25135 16 17
I T ® ST |
CE o= T
! 96 15
7*
M20x 1.5 0000000024 299
¢ 1400009
A2M20S016CB
7 1415+ 0.7 7
88.5 25135 16 __21
0.5
- - ¢ 18
#
M20x 1.5/ 83507
oooog

A2M20S016SD |-1F

125

10 45 6 47 oooo

ey

M20x 1.5 /00024

[

i1

241p 30

eCBOOODODOOOOOOOODOODODO

ooooooodo



gooobooobobobobooobooon ooooboobobooboobgooo

oooboogoodgn
Ooogboododgand
goooougod

e00000O00OOOOOOOOOOODOODOODO
goMmorFBOOCBOOOOO0OO0O0O0O0O

ej00000O0O0O0OOOOOOOOODOODODODO
0000000000000000 DDDDDSOZS cB

e0000N000C0DDNO0 "
e00000000000000000000000 SSEBS“A2M27SOZS O1F
0000000000000000000000

O00000ooooo0o0oo00ooooooooooog

o o o A2M27 N025
ooo0o0On A2M27 8025

0A2M27N025SD0 0 A2M27S025CB

ooooooo 0 A2M27S025SD-1F DDDDD
25mm
oo
A2M27N025SD | A2M2750255D-C| A2M27s02sce © 0 tHEEEOODOOOOOODOO0D
0ooo 0oooo |lobooooo looooooo 0D26700000000000
0D0D0TDO0MO000DNoNooo oooo 4
UOooO0OO0O0OO J 79.4 00000ES/minl 00000 Oooooo
000 O 0 mm 25 EZ:EFBS%%TEDH <DDDDDDD) lsDjooo
0000000000 kg 50500 Chboonn oooooo DDDDDDDD . 1
- FBlOOO0O00DOO
1 0o00ooonon Jmin 539 0020000025mmO00000000 Aoooo
000000 ms 0.150 3 ooooo
gosmg O O O O N 7200 uvosmwoooooooooobooooo 0MO0000DMCBMONONONONOONONONONONNOOO
00200 OO0 O O O N 44.1 ooooo
ooooOooao s 0.3
00000000 Oimin 60
ooooDoo o 05007000000000500500
o o o o LAD O FAD O FBO cBOOO
0ooo oooo 0.4 0.6
kg 0000 | LADOD027 FAD 000.16 FBO 000.26 0
0 o o o 0ooo O
ooooaoa
0M.000MO000MO00N00D
oooo DR501 00000000000SK-10000
ooooooo
0 0D 0O O 0O O DCLI 50 30V | ACI 501 100V 2.0000000¢ 4mmO 0.3mm?2x
I - - o o o o 10 15mA 20000000001.5m0 e
b 0000 0o 15W [ 2vA 3000000 mmAD o
& 00000mMwWOOVAD O
& g g o o OmA 0SS SR EHHRFETTx 1000 i
E 0 0 0 294m/s? E
&) ] ] ] 00000000ONDDD O §]
o i
0 o o o o IP6T] IECO O O 0
&) §]
\I\DDDDDDD
IR
8] a] a] 8] M55000
goooooo
0 0 5] 0 0000000000000000000




oooooooboooboobobDoonl soomm cooem O0O0O00O0O0O0O0O0O0OO0O0OO0O0OOCOO

CAD/DATA CAD/DATA
ABSORBER/MSADJ200MSOPTION 0O OO0OOO0OOO ABSORBER/MSADJ200MSOPTION 0000000

SDioooo SDhoooooo LA LAocooooo
A2M27N0O25SD A2M27S025SD-C A2M27NO25LA A2M27S025LA-C
136 156
136
10 84.5 2514 25 10 845 2514 25 20 0 845 2514 25 o 156
12 12 1 12 12 2 “ 845 2514 25 20
¢8
08 ﬁ 1
] y I | | — “b 0 f:B 024
" - ¢ 24 ! B3 ! h @
‘ 08 20
I 3 % ] | —
/ M27x 1.5 00000 o0ogogs2 2-¢ 11
M27x 1.5 00000 ooos2 M27x 1.5 gooooooos2 @ 175000011
FA FAoooooo CB
A2M27NO25FA A2M27S025FA-C A2M27S025CB
136 9 180% 0.7 9
ho 845 2514 _25 050 156 1135 25 14 25 25
1212 036 845 2514 25 20 10503 13 12 13
1
98 1 ZERN i ]
CPARY — () o — = oz
_ _ T i , L @ B ¢ 24 \187, (T i
ES ] ——
osl {3} ﬁ} ooos / 00000 / 0005
/ } 9105008/ 00032/ M27x 15 © 105008
M27x 1.5 goooogdoos2 4-99
FB FBoooooo ooood
— A2M27NO25FB A2M27S025FB-C A2M275025.1F
O O
o 164 [}
E 136 10 65 6 57 oooo E
E 725 2514 25 050 [ — 12 12 E
0 2 |12 36 725 2514 25 _ 20 o
O ‘ O
O E== o

®8

S Wi

on
9

: ¢ —
= O I

o ! (0}
ooooo !
0oos2 M27x 1.5 499

; : =N
‘ 2

- - - - —o 30jp 36
- q) 24 "";
M27x 1.5 /00032 00032

eCBOOOOIOOODOOODOODOODODO




650
A2M36 gooobooobobobobooobooon cooem O0O0O00O0O0O0O0O0O0OO0O0OO0O0OOCOO

goddddogdggdd Shoooo SDhoooooooooo
|:| |:| |:| |:| |:| |:| |:| |:| |:| . A2M36N025SD A2M36S025SD-C
I:l I:] I:l I:] I:l I:] |:| I:] |:| 149.5 1775
e00000O00OOOOOOOOOOODOODOODO 12 85.4 5 221 25 12 85.4 5221 25 28
ooo 16_ 16 16_ 16
eI D0O0DODODODOODOODOODOO 2 ) | 012
gobDoOooOOobOooboboooo -
e00O0OOOOOOOOOOC ) ) 12 - ] i s
M36><1.5/ gooo0oooge M36X1.5/ 00000 00046
oad
001M0000000000000000
oooo AZDM;GS‘%Z;SD ADZ"S?’SSDOZDS;DD'C 0026.700000000000
0000TDO0mMO0000oo0oon
oooooooog J 147 O0000ESI/min0O0000 FA FAloooooo
0 00 0 0 mm 25 Ez:gg%%gx <DDDDDDD) A2M36N0O25FA A2M36S025FA-C
0D00moo00 kg 140 1400 : oooood
: 0oooooo
0010000000000 Jmin 686 00200000 25mmO0 000000 1495 1775
000000 ms 0.150 1.5 ooooo 12 85.4 5221 25 o7’ 85.4 5221 _ 25 28
oomQg g O O O N 12740 003M0O0000o000ooooooooon 16 16 053
00200 O OO O O N 36 ooooo )
ooooooo s 05 - Q} Q} ST ot
00000000 Oimin 60 \
oooooo o 050070 - - - [0 12 @D - - 343
0 0 0 a] FAO O LAD
oooo 0ooo 0.945 1.051 /L Q} {}} 7T
kg oooo FAD [0 0 0.39900 LAD [ [1 0.369 M36x 15/ /00000 00046 4014
LA LAoooooo
A2M36N0O25LA A2M36S025LA-C
Il [0 O000o00O00O0000000000000000000 [
O O
E 149.5 E
E 0 0O D (A2M36 NQ'ZE 12 85.4 5 221 25 | 216 ) 85.4 28 E
[} 16 25 00023015 60 [}
o 00000 A2M36)S 025|SD [0C ‘ / 0
O T w | O
o ooooo } | - o
25mm N _l , Lo 12] 50 Z | 9 34.3
gooo ‘ ZGT‘ ‘ |
[sDjooo } ‘ |
FAODOoooooo /
M36x 1.5 00000 ooo4e

LAoooo



	取扱要領
	A2M12・A2M14
	A2M16・AS※-03
	A2M20
	A2M27
	A2M36

